Lesson 17

Finish Chapter 13. Domain,Range
Read Chapter 15

Angles. Arclength, Area of Wedges

Skip ch g
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1.

/.

Note: the order is important.

How to graph af(bx +€) + d bx = X

Graph y = f(x) -;

Horizontally :

2. Shift |c| units, left if ¢ is positive, right if ¢ is negative .

3. Scale horizontally of a factor ﬁ (compression if |b| > 1,

expansion if |b| < 1)

Reflect across y axis if b is negative . Skip this step if b is
positive.
Vertically:

. Scale by a factor of |a| (compression if |a| < 1, expansion if

ja| > 1)
Reflect across x axis if a is negative . Skip this step if a is
positive.

Shift |d| units, up if ¢ is positive, down if ¢ is negative .
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Sketch the graph of g(x) = 3|2x — 5| +1

,) Stard o Yh 52 (x|

ok Y= (2x-5 |

J: 2x ~S
= 2x =S

S=2Z2X

=
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Pre.vto«)(::ﬁ( bx «c ) v d ‘

How to graph af(b(x + ¢)) + d. A Sin (-ET—T(K‘“C))‘B
8

QAS(bx + bec) ~d
1. Graph y = f(x)

Horizontally:

2. ‘Scale horizontally of a factor ﬁ. .(compression if |b| > 1,
expansion if |b| < 1)

3. Reflect across y axis if b is negative . Skip this step if b is
positive.

4. Shift |c| units, left if ¢ is positive, right if ¢ is negative .
Vertically:

5. Scale by a factor of |a| (compression if |a| < 1, expansion if
ja| > 1)

6. Reflect across x axis if a is negative . Skip this step if a is
positive.

7. Shift |d| units, up if c is positive, down if ¢ is negative .

Note: the order is important.

5x) =72 3 C_:T)g &(\bb{)e-‘)
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-5 J(bx) — S(bb(x~cC))

Sketch the graph of g(x) = 3273 + 1

zec-s) = X5 §= o™

o
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f is even if f(x) = f(—x). 4= CodXx

EX: cos x Is even

fis odd if f(x) = —f(—x).
EX: sin x i1s odd

b = X
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Suppose f(x) has domain 1 <

< x <bandrange 2 <y <9 What is

the domain and range of g(x ):3 (6x — 1) —|—87
| @ ]
L
!
256 3 '
Domen L1, 5§])-2L2, %] -7[&-61 s-;l,]
Range L2, 9)-7L¢,22] >, 35)
Foc 8 -Doma-w, L I/ 'J
Range L14,35]
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(h 15

An angle is the part of the plane in between two half lines starting
at the same points. Angles are measured in degrees or radians.
Certain precalculus/calculus formulas assume angles are measured
in radians, so we often use radians as units.

360 deg = 27 rad
180 deg = 7 rad

90 deg = g rad
45 deg = % rad
30 deg = T rad

27
rad = 4% deg

2023-11-08 08:58:43 12/17 lesson19 (12/17)



If we measure angles in degrees , then % of a degree is a minute
and % of a minute is a second. Convert 0.3 rad into deg, min,
second.

0.3 x 3690 _ [}, 197 %

T

13+ 4+ ©.188% XE£O =
o
11 . 322

(3 + h+ ©.322x690
\/V'\/

o 9.32
(3~ 0 4 g <

iy
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Arclength e

&2

&

b= rb

6 measured in radians

e .

L . O
r P2 ul
1 rad = angle that corresponds to an arc of the unit circle with
length 1 i

, 1419 red

P = ro
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Area of wedge

6 measured in radians

A (S,
M 2R
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Pcimeterc

Given that 6 is % and the circle has radius r = 3, what is the
perimeter of the sector 7

3 +3+3-T

C3 T
.

A

:6*%‘
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A pizza of radius 8 in is divided into 8 equal slices. Tom eats A
and Bob eats B. Who eats more ?
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